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ANTHROPOLOGY
PAPER —1II

Note : This paper contains fifty (50) objective-type questions, each question carrying
two (2) marks. Attempt all of them.

1.  ‘Primitive Communism’ was associated with :
(A) Friedrich Engels (B) L.A. Morgan
(C) Max Weber (D) Tonnies
2. A segmental group of a patrilineal descent system is called :
(A) Moiety (B) Lineage (C) Clan (D) All of the above

3.  Which of the following tribes come under PTG (Primitive Tribal Group) ?

(A) Santal (B) Chenchu (C) Khasi (D) Ho
4.  Polygamous marriage leads to the formation of :

(A) Kindred (B) Compound family

(C) Joint family (D) Marriage class

5.  ‘Ownership’ stands for :

A) the right to use property

B) the right to exploit resources
©)

D)

the right to use property and the right to deny use of such rights to others

(
(
(
( None of the above

6. Rites of birth, coming of age, and death are called :

(A) Rites of reversal (B) Rites of passage
(C) Initiation rites (D) None of the above
7. Who among the following offers a gender perspective of kinship studies in India ?
(A) T.N. Madan (B) Veena Majumder
(C) Leela Dube (D) M.N. Srinivas
8.  Relations between persons, where every connecting link is determined by blood or
common ancestry, are known as :
(A) Affinal Kin (B)  Fictive Kin
(C) Consanguineal Kin (D) Collateral Kin
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10.

11.

12.

13.

14.

15.

16.

17.

Which one of the following is recently emerging field in physical anthropology ?

(A) Palaeoanthropology (B) Serology
(C) DNA polymorphism (D) Human Growth

Multiple alleles control the inheritance of :
(A) Colourblindness (B) Sickle cell anaemia
(C) ABO Blood Groups (D) Phenylketonuria

Man attained evolutionary significance because of :
(A) Brain size (B) Capacity to use tools
(C) Erect posture (D) Language

The basic unit of evolutionary analysis is :
(A) the gene (B) the individual
(C) the breeding population (D) the chromosomes

Skin colour is controlled by :
(A) Dominant genes (B) Multiple genes

(C) Recessive genes (D) Multiple alleles

Sir Richard Owen and Adam Sedwick were :

(A) Critics of Darwinism (B) Supporters of Darwinism

(C) Critics of Lamarckism (D) Supporters of Lamarckism

Who is called “Darwin’s Bull Dog” ?
(A) Anaximander (B) Tower
(C) Huxley (D) Sutton

Inter - species struggle is a feature of :

(A) Use and Disuse theory (B) Modern synthetic theory

(C) Natural Selection theory (D) Mutation theory

The Mesolithic Period is represented by :
(A) Blade - and - Burin technocomplex
B) Microlithic technocomplex

Flake tool technocomplex

)
D) Acheulian technocomplex



10.

11.

12.

13.

14.

15.

16.

17.

B & | oifqer Arafore & fefated § @ sF 720 SEame 89§12

(A) YUHEAE foagH (B)  Seirstt

(C) BTAY, =g ®ugehal (RfeHiithes) (D) #e faehrd
aggH (Afeedd seiers) dwmgmd =l fRifa @ 2

(A) YA (FeReTEETH ) (B) Tosral ¥ smftEn

(C) wa.3f. & o (D) RiTeIeRI R

T & fasm™ &1 Ted % HRUT T |

(A) ARG F TEHR (B) ISR ! SWIHIA T I &THaT
(C) el HeT (TR eR) (D)

forpraard fogeioor &t YR 94 HhE © :

(A) SA (B) =f fomiw

(C) TS STeIa (D) HHESH

= o 1 FEE e

(A) et St (=) (B) % YR & SiH

(C) Tt St (Fafya) (D) =8gW (Hfeedd 3Teiersl)
W =E i iR Ten defas &

(A) SIfdA d1E o AT (B) eIfe aE % wHef®
(C) THRRAE & STEl=eh (D) THRRAE % TR
i 1 g e’ TR e ST © 2

(A)  TfoaHet (B) T

(© T (D) Hd=

IR TS He T AL T

(A) ‘g9’ SR ‘femgm’ fagia (B) eyt fHafew fagia
(C) Yo (F9% dorRM) fagid (D) 3afed (Fgevn) fasia
T qroToT g7 <Rl gfafafe foRe s ©

(A) =IE TUS-JfFT ToHhi @i (B) HTEhHIcifeh oIl
(C) ™I T SHIRITIR (D) 3T=ferad SoHIhITT

J—0706 5

P.T.O.



18. The Megalithic culture of South India falls under :
(A) the Stone Age (B) the Iron Age
(C) the Copper Age (D) the Bronze Age

19. “Care Art” signifies the culture of :
(A) Mesolithic (B) Middle Palaeolithic
(C) Upper Palaeolithic (D) Lower Palaeolithic

20. Abberillian core tools are called :
(A) Coup - de - Poing (B) Baton - de - Commandment
(C) Rostrocarinates (D) Eoliths

21. Which one of the following pairs is correctly matched ?

(A) Morgan’s ‘Development Scheme’ is an exercise in developing a classical
evolutionary theory

(B) ‘Social Darwinism’ is associated with Charles Darwin
(C) Leslie White is the propounder of the ‘Method of Cultural Ecology’
(D) The concept of ‘Differential Evolution” was applied by Condorcet

22.  Which one of the following pairs is not correctly method ?

(A) Animism as the concept of soul was developed by E.B. Tylor
(B) Totemism is considered as the earliest form of religion
(C
(D

) The Golden Bough was written by Sir James Frazer
) Emile Durkheim gave a functional explanation of religion

23. Given below are two statements. One is labelled as Assertion (A) and the other labelled
as Reason (R).

Assertion (A) There was a “pre - animistic’ stage of primitive religion marked
by impersonal magical powers.

Reason (R) : Even before animism there was a stage dominated by magic,
which was practised with the sole objective of controlling natural
power.

In the context of the above statements, which of the following is correct ?

(A) Both (A) and (R) true

(B) Both (A) and (R) true, but (R) may not be the correct explanation of (A)
(C) (A) true but (R) false
(D) (A) false but (R) true
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24.

25.

26.

Given below are two statements. One is labelled as Assertion (A) and the other labelled
as Reason (R).

Assertion (A) Linea aspera is found in man.
Reason (R) : Linea aspera in man is meant for the attachment of muscles

responsible for erect posture.

In the context of the above statements, which of the following is correct ?

(A) (A) true but (R) false
(B) (A) false but (R) true
(C) Both (A) and (R) true, but (A) is not the correct explanation
(D) Both (A) and (R) true

Given below are two statements. One is labelled as Assertion (A) and the other labelled
as Reason (R).

Assertion (A) Down’s Syndrome leads to mental retardation.
Reason (R) : Down’s Syndrome is caused by Trisomy 21.

In the context of the above statements, which of the following is correct ?

(A) (A) true but (R) false

(B) Both (A) and (R) true, but (R) is not the correct explanation of (A)
(C) Both (A) and (R) false

(D) (A) false but (R) true

Given below are two statements. One is labelled as Assertion (A) and the other labelled
as Reason (R).

Assertion (A) Diabetes is a metabolic disorder.

Reason (R) : Diabetes is commonly found in affluent society.

In the context of the above statements, which of the following is correct ?
A) Both (A) and (R) true

B) Both (A) and (R) true, but (R) is not an explanation

C) (A) true but (R) false

D) Both (A) and (R) false
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27. Given below are two statements. One is labelled as Assertion (A) and the other labelled
as Reason (R).

Assertion (A) Archaeology is one of the main sources of history.
Reason (R) : History cannot be written without Archaeology.
In the context of the above statements, which of the following is correct ?
(A) Both (A) and (R) are true

(B) (A) true but (R) false

(C) Both (A) and (R) are true, but (R) is not an explanation

(D) (A) false but (R) true

28. The following anthropologists were engaged in the study of social structure. Arrange
them in the order they have made their contributions in this field. Use the code given
below :

(i)  A.R. Raddliff - Brown
(i) Edmund Leach

(iii) Claude Levi - Strauss
(iv) S.F. Nadel

Code :
(A) (1), (@), (i), (i) B) (), (i), (@), (i)
Q) (@), @v), (i), (i) (D) (@), (i), (i), (iv)

29. A list of four forms of religion is given below. Arrange them in the order they were
supposed to have appeared. Use the code as given under :

(i) Animism

(i) High God Concept
(iii) Animatism

(iv) Polytheism

Code :
(A) (1), (i), (i), (iv) ®B) (@), (i), (iv), (i)
(C) (i), (i), (i), (iv) (D) (i), (1), (i), (iv)

30. Arrange the following theories in the order in which they appeared. Use the code
given below :

(i) Diffusionism
(i) Evolutionism
(iii) Structuralism

(iv) Functionalism

Code :
(A) (@), (), (iv), (iii) ®B) (@), @v), (i), (i)
(©) (@), (i), (iv), (iii) (D) (i), (iv), (i), (iii)
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27.

28.

29.

30.
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(A)  (v), (1), (iid), (i) (B)  (iv), (iii), (i), (ii)
(© (@), (v), (i), (i) (D) (@), (i), (i), (iv)
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(i) Sfeare (Yfem)

(i) A YR Hhedl (BB e FHHL)
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(iv) agéaaﬁ(trr%fﬁs—q)

(A) (@), (i), (i), (iv) (B) (1), (i), (iv), (ii)
(© (i), (), (@), (iv) (D) (i), (@), (i), (iv)

fr=fafea fagial = S 3ea & 9 § Tt = feu 1w il o g4 Sifs :
() fewrEfea

(iv) TEREICTRAER (HaRMesH)

HIE:

(A) (i), (i), (iv), (i) (B) (i), (iv), (iii), (ii)
(©) (i), (i), (iv), (i) (D) (i), (iv), (i), (iii)
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31. Identify the correct answer :

(A) Vanaprastha - Grihastha - Brahmacharya - Sanyasa

(B) Brahmacharya - Grihastha - Vanaprastha - Sanyasa
(C) Brahmacharya - Grihastha - Sanyasa - Vanaprastha
(D) Brahmacharya - Sanyasa - Grihastha - Vanaprastha

32.  Which one is the correct sequence of the following ?

(A) Harappan culture - Chalcolithic culture - Neolithic culture - Iron Age culture

(B) Chalcolithic culture - Neolithic culture - Harappan culture - Iron Age culture
(C) Neolithic culture - Iron Age culture - Harappan culture - Chalcolithic culture
(D) Neolithic culture - Harappan culture - Chalcolithic culture - Iron Age culture

33. Which one is the correct sequence of the following ?

(A) Cenozoic Era - Mesozoic Era - Palaeozoic Era - Pre - Cambrian Era

(B) Mesozoic Era - Palaeozoic Era - Cenozoic Era - Pre - Cambrian Era
(C) Pre - Cambrian Era - Palaeozoic Era - Mesozoic Era - Cenozoic Era
(D) Pre - Cambrian Era - Palaeozoic Era - Cenozoic Era - Mesozoic Era

34. Match the following :

List - I List - II
(Economic activity) (Community)
(a) Foraging (i) The Konyak Naga
(b)  Shifting Cultivation (i) The Santal
(c) Pastoralism (iii) The Coorg Bushman
(d) Cultivation (iv) The Masai
Code
(@ (b) (o) (d)
@ O G () G
® v O @ (i)
© @) O (v )
D) Gi) () 0 @)

12



31.

32.

33.

34.

F@%ﬁﬂ%ﬂm:

(A) AU - TEE - FeT=d - H™
(B) &= - R - AT - HAH
(C) o= - T - H - Iy
(D) e - S - TEe - Iy

frfafed & @ %1 99 82
(A) TS HEHFT - wehiciifores Hepfd - friwlifom depfd - degm depi
(B) eehIcioreh Wepid — et Sehld — ewl Sepid — deg Hepid
(C) T Hepfa - oo Hehld - TS WEHid — Sewhiei o FEhid
(D) T Hepld - sgwl Wepid — =ewhreiiofe Hepid — degT depid

frefafea # 9 o€ Ha FA A E?

(A) HAISgeh He - BESIEh et - Qiierrsiges hicl - Jd hise sl
(B) NS HIA - WfcTasilgh Pl - HASIgh P — Y& ShisA Fd
(C) T8 HiseH e - Wifcrrsigs HId - HESisSH Hel - HArsigsh HIa
(D) & HiseH e - Wfcrdrsigs Hla - FHsigeh Hle - HESIgH HId
Frefafea =1 faem wifT
-1 T - 11

( 3Tfefer FraTRed ) (| )
(a) SR (HIITST) i) = A
(b) o @t (fafen swfceasm) (i) H
(c) RS (i) T oA
(d) (iv) wERE
HIE :

@@ () (9 (d)
(A) @ @) @v) (i)
B) (v) @@ @) (i)
(© @) @ (@v) (i)
(D) @) @) @ (@0
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35. Match the following :

List - I List - II
(Names of books) (Names of authors)
(a) ‘Government and Politics in Tribal (i) Georges Balandier
Societies’
(b) “Anthropologic Politique” (Political (i) L.H. Morgan
Anthropology)
(c)  “Ancient Society’ (iii) Morton Fried
(d) ‘The Evolution of Political Society” (iv) Isaac Schapera
Code

@@ () (o (d)

(A) @) (@v) (@) ()
(B) @) (@v) @ (i)
© G@v) @ @) ()
(D) Gv) @ (D) (i)

36. Match the following :

List - I List - II

(a) Mendelian Disorder (i)  Breast Cancer
(b) Chromosomal Disorder (ii) Diabetes mellitus
() Multifactorial Disorder (i) Turner’s Syndrome
(d) Somatic Mutation (iv) Hemophilia
Code :

@@ () (o (d)

(A) @ @) (3 (v)
(B) i) @ (v) (i)
(© i) (@v) @) @)
(D) iv) (i) @) @)
37. Match the following :
List - I List - II

Autosomal Recessive i)  Bombay Phenotype

)
(b) Autosomal Dominant ii) Phenylketonuria
(c) Epistasis

(d) Sex - Influenced

iii) Pattern Baldness
iv) Achondroplasia

@@ () (o (d)

(A) @) (@Gv) @) @)

(B) Gv) (@) @ )
© @ @) @ ()
(D) @) (v) @) ()

J—0706 14



BISICHEHR
TA.TH. AN
iii) T HES

(
(
(

-1I
(SR T )
ST MU

ii)
iv)

(i

ISIE1Y
- 11

IR HA
i) eEfads dfered
i) A9 fagm

ERlIRIR)

(i)

(i)

(iii)

(iv)

oo

EEERICIRIECE
()
(i)
(iii)
(iv

TreTaieriit Wicfidre (fefeshe €

-~ 0 NN N -~ o o

—~ o~~~

N ' ' ' —

-1
e

( TR ohi G )

N ' ' —

Fr=fafad 1 fHeme ST :

(@)
(b)
(©)
(d)
HiS:
A)
B)
)
D)

35.

P.T.O.

15

J—0706



38. Match the following :

List - I List - II
(@) ‘The Birth of Indian Civilization’ (i) Sankalia. H.D.
(b)  ‘The Personality of India’ (i) Oakley. K.P.
(c)  ‘Prehistory and Proto-history of (iii) Allchin etal
India and Pakistan’
(d) ‘Man the Tool Maker’ (iv) Subba Rao. B.
Code :
@@ () (o (d)
(A) Gv) @ () (D)
B) @) @) @ G
(© @) @Gv) @ @)
(D) @) (v) @) @)

39. Match the following :
List - I

a

c¢) Kinanthropometry

d) Primate studies

Code :

(@ () (9
(A) (i) @) 6
B G O G
© @) @v) (i)
(D) Gv) G (i)

40. Match the following :

List - I
(a) Polyploidy
(b) Aneuploidy
(c) Monosomy
(d) Trisomy
Code :

(@ (b) (o)
A) G @ G
B) (i) @) 0
(©) (i) (iv) (i)
(D) Gi) @)

Human growth studies

List - IT
i)  Ross

iii) Tanner

(@) (
(b) Forensic Anthropology (i) Jane Goodall
( (
( (

iv) Steward

(d)

(i)

(iv)

(@)

@

List - II

(i) One chromosome absent
(ii) One chromosome extra
(iii) Extra chromosome sets
(iv) An extra or missing chromosome

(d)

(iv)

(i

(i)

(iv)

16
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41.

42.

43.

44.

45.

Match the following :
List - I List - II

(a) Genetic Equilibrium (i) De Vries
(b) Inborn Errors of Metabolism (i) Sewell Wright
(c) Theory of Mutation (iii) Hardy and Weinberg
(d) Founder Effect (iv) Sir Archibald Garrod
Code :
(@ (b) (o) (d)
(A) @ @) (3@ (v)
(B) (@) @v) @O ()
(©) (@@) G@v) @@ @
(D) @@ @) @ (v)

Which one of the following statements is true ?

(A) Taysachs disease results in degeneration of Nervous system

(B) Sickle cell anaemia leads to lung cancer
(C) Marfom syndrome leads to shortening of limbs
(D) Polydactyly leads to shortening of fingers

Which one of the following statements is false ?

(A) All arboreal mammals are brachiators

(B) Sagittal crest is present in gorilla
(C) Stereoscopic vision is found in man
(D) The sectorial tooth is a characteristic feature of pongids

Which one of the following statements is true ?

(A) Zygotine is a stage of mitosis

(B) Hemophilia is due to a sex - limited gene
(C) Albinism is an inborn error of metabolism
(D) Turner’s syndrome patient is always a male

Which one of the following statements is true ?

(A) Loris is not a prosimian

(B) Marmosets are old world monkeys
(C) Barbary apes are best classified as pongids
(D) Lemurs are now found in Madagascar
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41.

42.

43.

44.

45.

= fer@ el § F W@ g 2

(A) HF (Taysachs) SR & H1g JOTeA T &1 & S |
(B) foshet Hat oTifHel & TSl b1 R &Il B |

(C) R fagim § 7 91 & 9 7

(D) Tiferefaeett & Infeai B & st €|

Frefafea & &M a1 weH Tod §2

(A) T HEFET T Sged (shferned) 2t ¥
(B) wmfFart ferde TRen(FamR) o faemm et T

(C) =a # ffam gfe St 7

(D) A H (HFRIFEE) ha aiAfTey 1 favm aamn 2

T feu 3 et H iF T ¥ 2

(A) WA (Frs) FHfGYSHE (HAEAfaE) i T 7o ¢
(B) TTEhed Bal (FHIwiferan) A HiHa S & R 8 |
(C) STAa=l waTT= (HersifersH) i sed Jfe T

(D) =R favgim &1 It T q&9 e 7 |

= forg el | 9 e 9d €72

(A) e dreifa = 7

(B) HRANZE G-l & s ¥ |

(C) IRSY I ol UHNTSH H aficha e Hafereh 3fad 2 |
(D) <R 219 HEFTRaRT H 91T S ¥ |

J—0706 19

P.T.O.



Read the passage below and answer the questions that follow based on your
understanding of the passage.

A kind of policy research anthropologists frequently do is a social - impact
assessment, which entails collection of data about a community or neighbourhood for
planners of development projects. Such an assessment seeks to determine a project’s
effect by determining how and upon whom its impact will fall and whether the impact
is likely to be positive or negative.

As an illustration of this kind of work, anthropologist Sue Ellen Jacobs was hired
to do a social impact assessment of a water diversion project in New Mexico planned
by the Bureau of Land Reclamation in cooperation with the Bureau of Indian Affairs.
This project proposed construction of a diversion dam and an extensive canal system
for irrigation on the Rio Grande. Affected by this would be 22 communities inhabitied
primarily by Spanish Americans, as well as two Indian Pueblos. In the region,
unemployment was high (19.1% in June 1970), and the project was seen as a way to
promote a perceived trend to urbanism (which theoretically would be associated with
industrial development), while bringing new land into production for intensive
agriculture.

What the planners failed to take into account was that both the Hispanic and
Indian populations were heavily committed to farming for household consumption,
with some surpluses raised for the market,using a system of irrigation canals established
as many as 300 years ago. These canals are maintained by elected supervisors who
know the communities as well as the requirements of the land and crops, water laws,
and ditch management skills. Such individuals can allocate water equitably in times of
scarcity and can prevent and resolve conflict in the realm of water and land use, as
well as in community life beyond the ditches. Under the proposed project, this system
was to be given up in favour of one in which fewer people would control larger tracts
of land and water allocation would be in the hands of a government technocrat. One
of the strongest measures of local government would be lost.

Not surprisingly, Jacobs discovered widespread community opposition to this
project, and her report helped convince Congress that any positive impact was far
outweighed by negative effects.

One of the major objections to the construction of the project is that it would
result in the obliteration of the three - hundred - year - old irrigation system structures.
Project planners did not seem to recognize the antiquity and cultural significance of
the traditional irrigation system. These were referred to as “temporary diversion
structures”. The fact that the old dams associated with the ditches were attached to
local descent groups was simply not recognized by the official documents.

Other negative effects of the project, besides loss of local control, would be problems
associated with population growth and relocation, loss of fishing and other
river - related resources, and new health hazards, including increased threat of
drowning, insects breeding, and airborne dust. Finally, physical transformation of the
communities’ life space was seen likely to result in changes in the context of the informal
processes of enculturation that take place within the communities.
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46. According to the passage given above, which one of the following is correct ?
A) Bureaucratic approach is rewarding

B

~—

(

( The approach of an Action Anthropologist is rewarding
(C) Haphazard planning is useful
(

D) Peoples” participation is not necessary

47. Which of the following do you consider to be valid ?
A) Impact assessment approach is useful in development process

B

~—

(
( Ignorance of traditional system is useful
(C) People - centered approach is unnecessary
(

D) Consultant Anthropologist is not required

48. Which one of the following statements is correct ?
(A) Holistic understanding of system paves way for development
(B) Consideration of native resources is not needed
(C) Consideration of value system does not promote development
(

D) Imposition from outside is a necessary pre-condition for development

49. Where would you place Sue Ellen Jacobs in the following Categories ?
(A) Ethnologist (B) Ethnographer

(C) Cognitive Anthropologist (D) Action Anthropologist

50. Which one of the following is true in the context of the project under consideration ?

A) It does not help to extend cultivation to new areas

(
(B
(
(

~—

It promotes conflict between communities
C) It deprives people of their rights to native resources

D) Understanding of life and culture of the people lays the foundation for any future
development

-00o0-
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46.

47.

48.

49.

50.

ST TS H I |G § 2
(A) R IR T TR TR T

(B) T Tramia (TaM) AMa fomt &1 adeny/fafy @&t g1
(C) STeafeerd F STant 2 2|

(D) STaT %t Ffaefirar sTrevae & 7
frefefea § & o f6d 9w 7 §2
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(B) URUfEk yonferdi & s § SR 7 21 AT 2 €
(C) a1 sfga fafy sHmEwae 2|

(D) w1 S8R hi STEeahdl &) 3l |

1 f el | 1 W1 FUd TE R ?

A)  fordt gomelt 1 weqel SRR forshr ot AR wered et T
B) TN SHIEA] Sl @A WAl e T8 |

C) ‘'Hoa Yol i S | W@ foreR sl S9fd T8 e’ |
D) @TE ¥ &1 ST foeRr & faw strereres gee ¢ |

~—

(
(
(
(
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